
Liceo Scientifico “L. Cremona” Classe:
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Trovare, se esistono, le soluzioni delle seguenti disequazioni.1

1. 3
√
x+ 2 <

3
√
3 x

2.
√
x2 − 4 + 1 < 2x

3.
√
x2 − 3x− 28 ≤

√
x2 + x− 6

4.
|2x− 3| − 1

|x| − 2
≥ 0

5.
2(x+ 4)− x2

|x− 4|
> −x− 3

6.
x2 − 5x+ 4

−x2 + 5x− 6
≤ 0
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Soluzioni.

3
√
x+ 2 <

3
√
3 x S = {x ∈ R | x > 1}√

x2 − 4 + 1 < 2x S = {x ∈ R | x ≥ 2}√
x2 − 3x− 28 ≤

√
x2 + x− 6 S = {x ∈ R | − 11

2 ≤ x ≤ −4 ∨ x ≥ 7}

|2x− 3| − 1

|x| − 2
≥ 0 S = {x ∈ R | x < −2 ∨ (x ≥ 1 ∧ x 6= 2)}

2(x+ 4)− x2

|x− 4|
> −x− 3 S = {x ∈ R | x > −5

2 ∧ x 6= 4)}

x2 − 5x+ 4

−x2 + 5x− 6
≤ 0
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